
nIo
ah]6 ?= 

nfvdf
nIo ah]6 nIo ah]6 nIo ah]6 

>fj0f efb| c;f]h sflt{s d+l;/ kf}if df3 kmfNu'g r}q j}zfv h]i7 cfiff9

c) k'lhut vr{ cGt/utsf 

sfo{qmdx?

8.6.
22.6

g;{/L dd{t -g;{/L jf Aof8 

lgdf{0f÷jfof]OlGhlgol/Ë sfo{_

j6f 6 2.4 6 2.4 2.4

8.6.
22.1
7

lj?jf pTkfbg -ljleGg k|sf/sf 

?v, sfi7 tyf ax'pkof]uL k|hflt_ 

-xhf/df_ -g;{/L jf Aof8 

lgdf{0f÷jfof]OlGhlgol/Ë sfo{_

;+Vof 

xhf/df

100 8 100 2 3 3 2 3 3

8.6.
23.16

j[Iff/f]k0f -lh=j=sf=af6_-j[Iff/f]k0f_ x]S6/ 5 2.5 2.5 2.5

8.6.
23.4
7

e'sDk k|efljt If]qx?df hldgsf] 

:yfloTjsf] nflu afF; /f]k0f -

j[Iff/f]k0f_ 

xhf/ 

j6f

10 20 5 10 5 10 10 10

s k'lhut vr{ cGt/utsf 

sfo{qmdx?sf] hDdf

xhf/ 32.9 4.4 13 15.5 4.4 3 10 0 0 5.5 10 0 0

cf rfn' vr{ cGtu{tsf sfo{qmdx? 

2.1.1
.1

wf/fsf] dxz'n o'lg6 0.5 0.15 1 0.05 1 0.05 1 0.05 0.05 0.05 0.05

2.1.2 lah'nL dxz'n o'lg6 0.5 0.3 1 0.1 1 0.1 1 0.1 0.1 0.1 0.1

2.2.1 6]lnkmf]g dxz'n dlxgf 12 0.24 4 0.08 4 0.08 4 0.08 0.08 0.08 0.08

2.2.2
.1

j]e;fO{6 xf]l:6Ë tyf OG6/g]6, 

Od]n ;+rfng ug]{ -

O{d]n÷OG6/g]6÷j]e;fO6_

k6s 1 0.18 4 0.06 4 0.06 4 0.06 0.06 0.06 0.06

2.2.
4.4

x'nfs l6s6 -x'nfs÷s'l/o/ vr{_ j6f 1 0.16 4 0.05 4 0.05 4 0.06 0.05 0.05 0.06

2.4.
1.3

df]6/;fOsnsf nflu k]6«f]n -

sfof{nosf] Ogwg_

ln6/ 240 0.31 80 0.1 80 0.1 80 0.11 0.1 0.1 0.11

2.4.
1.9

l8hn -sfof{nosf] OGwg_ ln6/ 600 0.66 200 0.22 200 0.22 200 0.22 0.22 0.06 0.055 0.06 0.06 0.055 0.06 0.06 0.06

2.4.
1.25

Uof; -sfof{nosf] Ogwg_ ;+Vof 12 0.22 4 0.07 4 0.07 4 0.08 0.07 0.07 0.08

k|=rf}dfl;s bf]=rf}dfl;s t]=rf}dfl;s jh]6 ljefhg -jh]6 ?=nfvdf_

lhNnf jg sfof{no dsjfgk'/

rf}dfl;s jh]6 ljefhg

cfof]hgf÷sfo{qmdsf] gfd M a[If ;'wf/, j[Iff/f]k0f tyf lglh jg sfo{qmd -cf=j=@)&@÷)&#_

PsfO{

jflif{s

l;=g= lqmofsnfk



nIo
ah]6 ?= 

nfvdf
nIo ah]6 nIo ah]6 nIo ah]6 

>fj0f efb| c;f]h sflt{s d+l;/ kf}if df3 kmfNu'g r}q j}zfv h]i7 cfiff9

k|=rf}dfl;s bf]=rf}dfl;s t]=rf}dfl;s jh]6 ljefhg -jh]6 ?=nfvdf_

cfof]hgf÷sfo{qmdsf] gfd M a[If ;'wf/, j[Iff/f]k0f tyf lglh jg sfo{qmd -cf=j=@)&@÷)&#_

PsfO{

jflif{s

l;=g= lqmofsnfk

2.5.1
.2

sf/, hLk, Eofg dd{t -;jf/L 

;fwg dd{t_

j6f 10 0.5 3 0.15 4 0.2 3 0.15 0.15 0.2 0.15

2.5.1
.3

df]6/;fOsn dd{t -;jf/L ;fwg 

dd{t_

j6f 12 0.18 4 0.06 4 0.06 4 0.06 0.06 0.06 0.06

2.5.2
.1

sDKo'6/, lk|G6/ dd{t -d]lzg/L 

pks/0f dd{t_

j6f 12 0.24 4 0.08 4 0.08 4 0.08 0.08 0.08 0.08

2.7.1
.1

kmf]6f]skL k]k/, /lhi6/, 86\k]g, 

l;;fsnd, O/]h/, ;fk{g/, :s]n, 

:6fkn, Un' cflb -sfof{no d;nGb 

;fdfg vr{_

;+Vof 10 0.55 2 0.11 4 0.22 4 0.22 0.11 0.22 0.22

2.7.2
.1

n]6/Kof8, /]s8{ kmfOn, vfd, cGo 

kmf/d 5kfO -5kfO{ vr{_

;+Vof 6 0.21 2 0.07 2 0.07 2 0.07 0.07 0.07 0.07

2.7.3
.1

kqklqsf, dfls tyf b}lgs -

kqklqsf tyf k'l:tsf_

dlxgf 6 0.12 2 0.04 2 0.04 2 0.04 0.04 0.04 0.04

2.15.
1.75

lghL jg ;+hfn lgdf{0f, ;+:yfut 

;'b[l9s/0f tyf Ifdtf clej[l4 

;xof]u -pBdzLntf, /f]huf/L 

d'ns÷;zlQms/0f÷;Lk ljsf; 

tyf Ifdtf clej[l4 tflnd_

Kofs]h 1 0.5 1 0.5 0.5

2.15.
40.7

lghL jg wgLnfO{ k|f]T;fxg 

k'/:sf/

lhNnf 1 0.13 0.13 0.13

2.15.
40.7

lghL jg btf{ tyf ;xhLs/0f lhNnf 1 0.3 1 0.3 0.3

2.19.
1.5

l4lto tx -cg'udg d'Nof+sg tyf 

sfo{qmd sfof{Gjog e|d0f vr{_

hgf 20 0.19 6 0.06 6 0.06 8 0.08 0.06 0.06 0.08

2.19.
1.6

t[lto tx -cg'udg d'Nof+sg tyf 

sfo{qmd sfof{Gjog e|d0f vr{_

hgf 30 0.21 10 0.07 10 0.07 10 0.07 0.07 0.07 0.07

2.19.
2.6

l4lto tx -cfGtl/s e|d0f_ hgf 20 0.19 6 0.06 6 0.06 8 0.08 0.06 0.06 0.08

2.19. t[lto tx -cfGtl/s e|d0f_ hgf 30 0.21 10 0.07 10 0.07 10 0.07 0.07 0.07 0.07

2.20
.2.3

lrofkfg -cltly ;Tsf/ tyf 

hnkfg, ef]h vr{_

k6s 12 0.24 4 0.08 4 0.08 4 0.08 0.08 0.04 0.04 0.04 0.04



nIo
ah]6 ?= 

nfvdf
nIo ah]6 nIo ah]6 nIo ah]6 

>fj0f efb| c;f]h sflt{s d+l;/ kf}if df3 kmfNu'g r}q j}zfv h]i7 cfiff9

k|=rf}dfl;s bf]=rf}dfl;s t]=rf}dfl;s jh]6 ljefhg -jh]6 ?=nfvdf_

cfof]hgf÷sfo{qmdsf] gfd M a[If ;'wf/, j[Iff/f]k0f tyf lglh jg sfo{qmd -cf=j=@)&@÷)&#_

PsfO{

jflif{s

l;=g= lqmofsnfk

2.20
.2.4

hnkfg -cltly ;Tsf/ tyf 

hnkfg, ef]h vr{_

k6s 4 0.14 1 0.04 2 0.07 1 0.04 0.04 0.04 0.03 0.04

2.20
.2.5

ef]h -cltly ;Tsf/ tyf hnkfg, 

ef]h vr{_

k6s 1 0.05 1 0.05 0.05

8.6.
22.1
0

:yflgo jg 

;d"x÷;f=j=p=;=dfkm{t lj?jf 

pTkfbg ;xof]u÷cg'bfg-j:t'ut / 

gub_ -g;{/L jf Jof8 

lgdf{0f÷jfof]OlGhlgol/Ë sfo{_

j6f 50 3 50 1.500 1.500 1.500 1.5

2 jg bzs sfo{qmd

2.15.
24.4

jg bzs sfo{qmd -j[Iff/f]k0f_ Kofs]h

2.15.
24.4
.5

hl8j'6L k|jw{g sfo{qmd Sn:6/ 

jdf]lhd -nf}7 ;Nnf_

Kofs]h 1 20 1 4 8 8 4 8 8

2.15.
24.4
.13

gu/kflnsfdf j[Iff/f]k0f ;lxt 

pBfg lgdf{0f Pj+ Joj:yfkg / 

cg'udg d'Nof+sg, clen]vLs/0f 

tyf k|ltj]bg ;lxt

j6f 3 18 3 3 6 9 3 6 9

v rfn' vr{ sfo{qmdsf] hDdf 47.18 8.62 18.11 20.48 8.62 16.5 0.515 0.66 0.48 19.06 0.37 0.63 0.44

s'n hDdf vr{ 80.08 13.02 31.11 35.98 13 19.5 10.52 0.66 0.48 24.56 10.4 0.63 0.44


